X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 NS: E=)6HE 5REHGHO) -23 20 NS: #lEFf 52/~ (EAC) 0 VP:| 3.82 : 16.18| Total VP: 85.00 Rank:
EW: E1E8 SE8(EAC) 0 EW: [R<FR BRiEFH(BAO) 23 IMP:| 8 29 8
e I
#1 » KQ872 3CS-1-50 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 3NS-3-150 -50  3NS3 400 100 1 v KT95 4SW5 -450 -420 2SW5 200 6.0 2
¢ 75 Dif: 100 NS:0 3CS3 110 40 1 + K9 Dif: 0 NS:-1 A 00 2
» 93 IMP:3 EW:3 A 00 2 & KQ953 IMP: 0 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 -170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 110 Mean: 3SW-3 300 60 1
v Q874 3DE4 -130 -150  2CN-1 -50 30 1 v 52 3DN-1-100 40 3SW-2 200 4.0 1
¢6 Dif: -40 NS:-1  3CN-2 4100 20 1 ¢ Q87542 Dif: 210 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: -1 EW:-1 2SS-2 4100 20 1 & 984 IMP: 5 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 -420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 -420 -300  3HN-1 100 50 1 v AK9632 4HS5450 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 0 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN-2 -200 Mean: 4HN6 680 80 1 |[|# 8 » K973 2SN5 200 Mean: 4SS5 450 1.0 3
v A8 5DN5 600 360  3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: -800 NS:-11 3NN5 660 7.0 2 ¢ AQT7 Dif: -250 NS:-5 A 00 2
& Q42 IMP: -13 EW:-6 5DS5 600 60 3 & A7 IMP: -6 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 58S-1 -50 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DS4 130 Mean: 3SW-3 300 50 5
v J3 5HE-1100 190 5CXW-2 500 7.0 1 v K6 3SW-3300 100 2SW-2 200 3.0 2
» KQ7542 Dif: -150 NS:-6 4SS4 420 60 6 o AT932 Dif: -170 Ns:1 3DS5 150 2.0 1
& 74 IMP: -4 EW:3 A 00 2 & A754 IMP: -5 EW:-5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
2 NS: =S8 Z=H(5H0) 3 16 NS: E30& MERE(EAC) 1 | VP:| 12.51 : 7.49 | Total VP: 88.15 Rank:
EW: E&H 2k J51EEAC) -1 EW: [REI SBELER(BAO) -3| IMP:| 26 : 19 7
e -
#1 » KQ872 3NS-2 -100 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 -480 Mean: 4DE6 170 6.0 1
v KQJ4 3CS-1-50 -50  3NS3 400 100 1 v KT95 4SW6 -480 -420 2SW5 200 6.0 2
¢ 75 Dif: -50 NS:-2 3CS3 110 40 1 + K9 Dif: 0 NS:-2 A 00 2
%93 IMP: -2 EW:0 A 00 2 & KQ953 IMP: 0 EW:2 4SW5 450 1.0 7
s J54 & AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
L) » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW3 -140 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN-1-100 Mean: 3SW-3 300 60 1
v Q874 3NW3 -600 -150 2CN-1 -50 30 1 v 52 3DN-1-100 40 3SW-2 200 4.0 1
¢6 Dif: 460 NS:0 3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: 10 EW:10 2SS-2 4100 20 1 & 984 IMP: 0 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1~~~ ~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 3HN-1 -100 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 3NW3 -400 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: 300 NS:5 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 7 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 5DN-1 -100 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 3NN5 660 360 3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: -760 NS:-10 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -13 EW:-7 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 6CXW-3 800 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DS5 150 Mean: 3SW-3 300 50 5
v J3 4SS4420 190 5CXW-2 500 7.0 1 v K6 3SW-3300 100 2SW-2 200 3.0 2
» KQ7542 Dif: 380 NS:12 4SS4 420 60 6 o AT932 Dif: -150 NsS:2 3DS5 150 2.0 1
& 74 IMP: 9 EW:6 A 00 2 & A754 IMP: -4 EW:-5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ &9 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
3 NS: &£F2 FEEGHO) 5 21 NS: &R BT (BAC) 7 VP:| 9.61 : 10.39| Total VP: 82.45 Rank:
EW: Z$H5 SEESFIEAC) -7 EW: S2[E SBEIE (BAO) -5) IMP:| 19 : 20 12
e I
#1 » KQ872 3CS3110 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 3CN-1-50 -50 3NS3 400 100 1 v KT95 4DE6 -170 -420 2SW5 200 6.0 2
¢ 75 Dif: 160 NS:4 3CS3 110 40 1 + K9 Dif: -280 NS:-1 A 00 2
» 93 IMP: 4 EW:0 A 00 2 & KQ953 IMP: -7 EW:-6 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 -170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN3 110 Mean: 3SW-3 300 60 1
v Q874 3HE3 -140 -150 2CN-1 -50 30 1 v 52 3DN3 110 40 3SW-2 200 4.0 1
¢6 Dif: -30 NS:-1  3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: -1 EW:0 2SS-2 4100 20 1 & 984 IMP: 0 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE-1 50 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HS5 450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 -420 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: 470 NS:8 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 10 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 4DS4 130 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 5DS5600 360 3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: -470 NS:-6 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -10 EW:-6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4CW4 -130 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3SW-3 300 Mean: 3SW-3 300 50 5
v J3 58S-1-50 190 5CXW-2 500 7.0 1 v K6 3DS3110 100  2SW-2 200 3.0 2
» KQ7542 Dif: -80 NS:-8 4SS4 420 60 6 o AT932 Dif: 190 NS:5 3DS5 150 2.0 1
& 74 IMP: -2 EW:6 A 00 2 & A754 IMP: 5 EW:0 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




[MEEF > FFERE R 2 ——> RS

#1: 9 BEA(107.06) #2: 19 F2 7 4:473(98.13) #3: 13 B (94.86)

4 NS: (B80) 0 22 NS: (BAC) 0 VP:| 12.00 : 0.00 | Total VP: 72.39 Rank:
EW: (FHC) 0 EW: (B10)0 IMP:| 0 0 16
e
1 » KQ872 A Mean: 3NXE-3 500 11.0 1 |[# 2 s J5 A Mean: 4DE6 170 6.0 1
v KQJ4 A 50 3NS3 400 100 1 v KT95 A -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:0 3CS3 110 40 1 + K9 Dif: 0 NS:0 A 00 2
» 93 IMP: 0 EW:0 A 00 2 & KQ953 IMP: 0 EW:0 4SW5 450 1.0 7
» J54 » AT63 3Cs-1 50 0.0 3 ||a AQT763 #» 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||w6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 4100 20 2 ||e QuB2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 450 30 1 [|N ~~1~~ » QJ8B743
S 2~~~1 ¢A6 3NS-3 4150 30 5||S ~~1~~ ¢543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXs-2  -300 -6.0 1
# 3 » Q863 A Mean: 2SS-1 -50 30 1 (|# 4 a K7 A Mean: 3SW-3 300 60 1
v Q874 A 150 2CN-1 50 3.0 1 v 52 A 40  3SW-2 200 4.0 1
¢6 Dif: 0 NS:0 3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:0 2HW-2 200 4.0 1
& KJ74 IMP: 0 EW:0 2SS-2 4100 20 1 & 984 IMP: 0 EW:0 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 & T3 2HW2 110 1.0 1 ||a AQ75 & 63 A 00 2
P OVAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
1~~~ ~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
~ 4 4 ~ 3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 A Mean: 4SE-1 50 80 2||# 6 4 K8 A Mean: 4HS5 450 10 3
v AJT9863 A -300  3HN-1 100 50 1 v AK9632 A 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:0 3SE3 140 40 1 + AK4 Dif: 0 NS:0 A 00 2
» Q2 IMP: 0 EW:0 2SE4 170 40 1 » Q8 IMP: 0 EW:0 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v 3HN-2 200 30 1||e4 — v T7
¢ A43 * QJ76 A 0.0 2 ||e T98765 * Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
~~~~~ w75 3NW5 460 -40 1 |IN ~~5~4 » QJ85
~~~~~ + KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
~3~41 #J9763 E ~~~~ ~ * T975
~3~41 W ~~~~~
#7 » AQ95 A Mean: 4HN6 680 80 1 |[|# 8 » K973 A Mean: 4SS5 450 1.0 3
v A8 A 360 3NN6 690 80 3 v A7 A 410  4SN5 450 1.0 14
+ K963 Dif: 0 NS:0 3NN5 660 7.0 2 ¢ AQT7 Dif:0 NS:0 A 00 2
& Q42 IMP: 0 EW:0 5DS5 600 60 3 & A7 IMP: 0 EW:0 3SN5 200 50 1
a KJ4 ~ T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
T + Q82 A 00 2 [|e 8652 ¢ 943
A9863 S & KJ7 4DS4 130 6.0 1 [|& KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
~55~4 ¢KIT9 5DS-1 <00 100 2 [IN ~~~53 ¢ T854
~55~2 ¢AJ754 5DN-1 100 100 1 ||S ~~~53 ¢ KJ
~~~~~ &T5 3NN-2 200 110 2 ||E 1 ~~~~ &83
~~~~~ 1 ~ o~~~
#9 # A86 A Mean: 6CXW-3 800 120 1 ||# 10 aT2 A Mean: 3SW-3 300 50 5
v J3 A 190 5CXW-2 500 7.0 1 v K6 A 100 2SW-2 200 3.0 2
« KQ7542 Dif: 0 NS:0 4SS4 420 60 6 o AT932 Dif: 0 NS:0 3DS5 150 2.0 1
& 74 IMP: 0 EW:0 A 00 2 & A754 IMP: 0 EW:0 3DN5 150 2.0 1
45 a J42 3583 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2||a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 410 70 1[N 24 ~~1 o A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 o K865 2sW3 140 60 4
E 4~3~~ %9 E ~~~~~ & QT2
W 4~3~~ W~~~




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
5 NS: EiHiE # BiEGE0) 0 7 NS: RER $BIH(EAC) 4 VP:| 6.57 : 13.43| Total VP: 84.74 Rank:
EW: BEAMY S8 EEAC) 4 EW: EHE 31E(B0) 0 IMP:| 18 : 28 9
e —
#1 » KQ872 3NS-3 -150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SE5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 3NN-3-150 -50 3NS3 400 100 1 v KT95 4SW6 -480 -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:-3 3CS3 110 40 1 + K9 Dif: 30 NS:-1 A 00 2
» 93 IMP: 0 EW:3 A 00 2 & KQ953 IMP: 1 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 4150 30 5 ||S ~~1~~ ¢ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 1NE2 -120 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 110 Mean: 3SW-3 300 60 1
v Q874 2SN-2 -100 -150  2CN-1 -50 30 1 v 52 3DN-1-100 40 3SW-2 200 4.0 1
¢6 Dif: -20 NS:1  3CN-2 4100 20 1 ¢ Q87542 Dif: 210 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: -1 EW:-2 2SS-2 4100 20 1 & 984 IMP: 5 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 2SE4 -170 Mean: 4SE-1 50 80 2(|# 6 4 K8 6HS-1 -50 Mean: 4HS5 450 10 3
v AJT9863 4SE-150 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: -220 NS:4 3SE3 140 40 1 + AK4 Dif: -500 NS:-10 A 00 2
» Q2 IMP: -6 EW:-8 2SE4 170 40 1 » Q8 IMP: -11 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 5DS5 600 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SS5 450 Mean: 4SS5 450 1.0 3
v A8 5DS-1-100 360  3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: 700 NS:6  3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 12 EW:10 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS4 420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 -140 Mean: 3SW-3 300 50 5
v J3 4SS4420 190 5CXW-2 500 7.0 1 v K6 3SW-3300 100 2SW-2 200 3.0 2
» KQ7542 Dif: 0 NS:6 4SS4 420 60 6 o AT932 Dif: -440 NS:-6 3DS5 150 2.0 1
& 74 IMP: 0 EW:6 A 00 2 & A754 IMP: -10 EW:-5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
6 NS: E=H BEE=GHO) 20 10 NS: 3855 EETF @ (BAC) -43 VP:| 20.00 : 0.00 Total VP: 69.60 Rank:
EW: M5 B EEAC) 43 EW: [RE1H Z&UE(BAO) -2 IMP:| 63 10 18
e I
#1 » KQ872 3NS3 400 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 4CXS-2-300 -50  3NS3 400 100 1 v KT95 2SW5 -200 -420 2SW5 200 6.0 2
¢ 75 Dif: 700 NS:10 3CS3 110 40 1 + K9 Dif: -250 NS:-1 A 00 2
%93 IMP: 12 EW:6 A 00 2 & KQ953 IMP: -6 EW:-6 4SW5 450 1.0 7
s J54 & AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 o AT87
L) » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2NW2 -120 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN3 110 Mean: 3SW-3 300 60 1
v Q874 2HW4 -170 -150  2CN-1 -50 30 1 v 52 3DN-3-300 40 3SW-2 200 4.0 1
¢6 Dif: 50 NS:1  3CN-2 4100 20 1 ¢ Q87542 Dif: 410 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: 2 EW:1 2SS-2 4100 20 1 & 984 IMP: 9 EW:8 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1~~~ ~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 3SE3 -140 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 -420 -300  3HN-1 100 50 1 v AK9632 3HN5200 410  4HN5 450 1.0 15
¢ 92 Dif: 280 NS:4 3SE3 140 40 1 + AK4 Dif: 250 NS:1 A 00 2
& Q2 IMP: 7 EW:3 2SE4 170 40 1 & Q8 IMP: 6 EW:5 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN3 600 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 3NN-2 -200 360 3NN6 690 80 3 v A7 3SN4 170 410  4SN5 450 1.0 14
+ K963 Dif: 800 NS:6 3NN5 660 7.0 2 ¢ AQT7 Dif: 280 NS:1 A 00 2
& Q42 IMP: 13 EW:11 5DS5 600 60 3 & A7 IMP: 7 EW:6 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS-1-50 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DN5 150 Mean: 3SW-3 300 50 5
v J3 5CW-1100 190 5CXW-2 500 7.0 1 v K6 2SW3 -140 100  2SW-2 200 3.0 2
» KQ7542 Dif: -150 NS:-6 4SS4 420 60 6 o AT932 Dif: 290 NS:2 3DS5 150 2.0 1
& 74 IMP: -4 EW:3 A 00 2 & A754 IMP: 7 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2SW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
1 +
AVA
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
7 NS: BEZE BBIrHIEIC) 4 5 NS: &2 #HRI5(F0) 0 VP:| 13.43 : 6.57 | Total VP: 90.75 Rank:
EW: HEE BHEEI0) 0 EW: BRiEL 1 REE(BAC) -4 IMP:| 28 18 6
e o
#1 » KQ872 3NS-3150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SE5 450 Mean: 4DE6 170 6.0 1
v KQJ4 3NN-3 150 -50  3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:-3 3CS3 110 40 1 + K9 Dif: -30 Ns:2 A 00 2
» 93 IMP: 0 EW:3 A 00 2 & KQ953 IMP: -1 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 ANE2 120 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 -110 Mean: 3SW-3 300 60 1
v Q874 2SN-2100 -150  2CN-1 -50 30 1 v 52 3DN-1 100 40 3SW-2 200 4.0 1
¢6 Dif: 20 NS:2 3CN-2 4100 20 1 ¢ Q87542 Dif: -210 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: 1 EW:-1 2SS-2 4100 20 1 & 984 IMP: -5 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 2SE4 170 Mean: 4SE-1 50 80 2(|# 6 4 K8 6HS-150 Mean: 4HS5 450 10 3
v AJT9863 4SE-1-50 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 220 NsS:8 3SE3 140 40 1 + AK4 Dif: 500 NS:1 A 00 2
» Q2 IMP: 6 EW:-4 2SE4 170 40 1 » Q8 IMP: 11 EW:10 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 5DS5 -600 Mean: 4HNG6 680 80 1 |[|# 8 » K973 4SS5 -450 Mean: 4SS5 450 1.0 3
v A8 5DS-1100 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: -700 NS:-10 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -12 EW:-6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS4 -420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 140 Mean: 3SW-3 300 50 5
v J3 4SS4 -420 190 5CXW-2 500 7.0 1 v K6 3SW-3 -300 100  2SW-2 200 3.0 2
» KQ7542 Dif: 0 NS:6 4SS4 420 60 6 o AT932 Dif: 440 NS:5 3DS5 150 2.0 1
& 74 IMP: 0 EW:6 A 00 2 & A754 IMP: 10 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
8 NS: 2R #EHEO) 2 11 NS: E#& ST (BAC) -20 VP:| 16.59 : 3.41 Total VP: 84.06 Rank:
EW: # T BEEEEEAC) 20 EW: EFE Rtt35(BA0) -2 IMP:| 24 : 1 10
e -
#1 » KQ872 3NS-3 -150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 -480 Mean: 4DE6 170 6.0 1
v KQJ4 4HN-4 -200 -50  3NS3 400 100 1 v KT95 4SW5 -450 -420  2SW5 200 6.0 2
¢ 75 Dif: 50 NS:-3 3CS3 110 40 1 + K9 Dif: -30 Ns:2 A 00 2
%93 IMP:2 EW:4 A 00 2 & KQ953 IMP: -1 EW:1 4SW5 450 1.0 7
s J54 & AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 o AT87
L) » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 -170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 110 Mean: 3SW-3 300 60 1
v Q874 2HW4 -170 -150  2CN-1 -50 30 1 v 52 3DN-1-100 40 3SW-2 200 4.0 1
¢6 Dif: 0 NS:-1 3CN-2 4100 20 1 ¢ Q87542 Dif: 210 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: 0 EW:1 2SS-2 4100 20 1 & 984 IMP: 5 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1~~~ ~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 -420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 -420 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
& Q2 IMP: 0 EW:3 2SE4 170 40 1 & Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN6 690 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 4HNG6 680 360  3NN6 690 80 3 v A7 3SN5200 410 4SN5 450 1.0 14
+ K963 Dif: 10 NS:8 3NN5 660 7.0 2 ¢ AQT7 Dif: 250 NS:1 A 00 2
& Q42 IMP: 0 EW:-8 5DS5 600 60 3 & A7 IMP: 6 EW:5 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 3SS3 140 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DN4 130 Mean: 3SW-3 300 50 5
v J3 4SS-1-50 190 5CXW-2 500 7.0 1 v K6 2SW2 -110 100  2SW-2 200 3.0 2
» KQ7542 Dif: 190 NS:-2 4SS4 420 60 6 o AT932 Dif: 240 NS:1  3DS5 150 2.0 1
& 74 IMP:5 EW:6 A 00 2 & A754 IMP: 6 EW:5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2SW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
9 NS: f3{FE #HFEFGHO) 6 1 9 NS: PRIERR FE1ESR(BAC) 18| VP:| 5.46 : 14.54| Total VP: 107.06 Rank:
EW: ZEREJR BRE/KEAC) -18 EW: $iRZE M#51H(BAO) -6 IMP:| 14 : 28 1
e I
#1 » KQ872 3NS-3 -150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 2SW5 -200 Mean: 4DE6 170 6.0 1
v KQJ4 3CS-1-50 -50  3NS3 400 100 1 v KT95 4SW6 -480 -420 2SW5 200 6.0 2
¢ 75 Dif: -100 NS:-3 3CS3 110 40 1 + K9 Dif: 280 NS:6 A 00 2
» 93 IMP: -3 EW:0 A 00 2 & KQ953 IMP: 7 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2SS-2 -100 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN-1-100 Mean: 3SW-3 300 60 1
v Q874 2CN-1-50 -150 2CN-1 -50 30 1 v 52 2DN290 40 3SW-2 200 4.0 1
¢6 Dif: -50 NS:2 3CN-2 4100 20 1 ¢ Q87542 Dif: -190 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: -2 EW:-3 2SS-2 4100 20 1 & 984 IMP: -5 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 -420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 2SE3 -140 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: -280 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: -7 EW:-4 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 5DS5 600 Mean: 4HNG6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 3NN6 690 360 3NN6 690 80 3 v A7 4SS5450 410  4SN5 450 1.0 14
+ K963 Dif: -90 NS:6  3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -3 EW:-8 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
¢VAN 43 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W~~~ ~ ~ 1~~~~
#9 4 AB6 4SS4 420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 -140 Mean: 3SW-3 300 50 5
v J3 3SS3140 190 5CXwW-2 500 7.0 1 v K6 2SW-2200 100  2SW-2 200 3.0 2
» KQ7542 Dif: 280 NS:6 4SS4 420 60 6 o AT932 Dif: -340 NS:-6 3DS5 150 2.0 1
& 74 IMP: 7 EW:2 A 00 2 & A754 IMP: -8 EW:-3 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 O NS: B3$%E BETMEEC) -43 6 NS: Einttl 27 (F0) 20 VP:| 0.00 : 20.00| Total VP: 13.85 Rank:
EW: BEEHH BECEEI0) 20 EW: BR5 32 BRIZ2E(BAC) 43 IMP:| 10 63 21
e -
#1 » KQ872 3NS3 -400 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 450 Mean: 4DE6 170 6.0 1
v KQJ4 4CXS-2300 -50  3NS3 400 100 1 v KT95 2SW5200 -420 2SW5 200 6.0 2
¢ 75 Dif: -700 NS:-6 3CS3 110 40 1 + K9 Dif: 250 NS:6 A 00 2
%93 IMP: -12 EW:-10 A 00 2 & KQ953 IMP: 6 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2NW2 120 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN3 -110 Mean: 3SW-3 300 60 1
v Q874 2HW4 170 -150  2CN-1 -50 30 1 v 52 3DN-3 300 40 3SW-2 200 4.0 1
¢6 Dif: -50 NS:-1  3CN-2 4100 20 1 ¢ Q87542 Dif: -410 NS:-8 2HW-2 200 4.0 1
& KJ74 IMP: -2 EW:-1 2SS-2 4100 20 1 & 984 IMP: -9 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 3SE3 140 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 420 -300  3HN-1 100 50 1 v AK9632 3HN5-200 410  4HN5 450 1.0 15
¢ 92 Dif: -280 NS:-3 3SE3 140 40 1 + AK4 Dif: -250 NS:-5 A 00 2
» Q2 IMP: -7 EW:-4 2SE4 170 40 1 » Q8 IMP: -6 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN3 -600 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3NN-2200 360 3NN6 690 80 3 v A7 3SN4 -170 410  4SN5 450 1.0 14
+ K963 Dif: -800 NS:-11 3NN5 660 7.0 2 ¢ AQT7 Dif: -280 NS:-6 A 00 2
& Q42 IMP: -13 EW:-6 5DS5 600 60 3 & A7 IMP: -7 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS-1 50 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DN5 -150 Mean: 3SW-3 300 50 5
v J3 5CW-1-100 190 5CXW-2 500 7.0 1 v K6 2SW3 140 100  2SW-2 200 3.0 2
» KQ7542 Dif: 150 NS:-3 4SS4 420 60 6 o AT932 Dif: -290 NS:-6 3DS5 150 2.0 1
& 74 IMP: 4 EW:6 A 00 2 & A754 IMP: -7 EW:-2 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 1 NS: H&E S&%FEEIC) 20 8 NS: 221# #EB(FOo) 2 VP:| 3.41 : 16.59| Total VP: 71.16 Rank:
EW: BB BEHES(BFO) -2 EW: #F 1 BRAEE(BAC) 20 IMP:| 1 24 17
e
#1 » KQ872 3NS-3150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 480 Mean: 4DE6 170 6.0 1
v KQJ4 4HN-4 200 -50 3NS3 400 100 1 v KT95 4SW5 450 -420  2SW5 200 6.0 2
¢ 75 Dif: -50 NS:-4 3CS3 110 40 1 + K9 Dif: 30 NS:-1 A 00 2
» 93 IMP: -2 EW:3 A 00 2 & KQ953 IMP: 1 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 -110 Mean: 3SW-3 300 60 1
v Q874 2HW4 170 -150  2CN-1 -50 30 1 v 52 3DN-1 100 40 3SW-2 200 4.0 1
¢6 Dif: 0 NS:-1 3CN-2 4100 20 1 ¢ Q87542 Dif: -210 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: 0 EW:1 2SS-2 4100 20 1 & 984 IMP: -5 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 420 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 0 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN6 -690 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 4HNG6 -680 360  3NN6 690 80 3 v A7 3SN5-200 410  4SN5 450 1.0 14
+ K963 Dif: -10 NS:8 3NN5 660 7.0 2 ¢ AQT7 Dif: -250 NS:-5 A 00 2
& Q42 IMP: 0 EW:-8 5DS5 600 60 3 & A7 IMP: -6 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 3SS3 -140 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DN4 -130 Mean: 3SW-3 300 50 5
v J3 4SS-150 190 5CXW-2 500 7.0 1 v K6 2SW2 110 100  2SW-2 200 3.0 2
» KQ7542 Dif: -190 NS:-6 4SS4 420 60 6 o AT932 Dif: -240 NS:-5 3DS5 150 2.0 1
& 74 IMP: -5 EW:2 A 00 2 & A754 IMP: -6 EW:-1 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 2 NS: ¥l ;T HRIN®EE0) -5 15 NS: R #HRE(EIC) 1 VP:| 7.82 : 12.18| Total VP: 68.68 Rank:
EW: &5 BEFEEAC) -1 EW: MBS B%IE(BO) 5 IMP:| 5 1 19
e -
#1 » KQ872 3NN-2 -100 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 -480 Mean: 4DE6 170 6.0 1
v KQJ4 3NS-2-100 -50  3NS3 400 100 1 v KT95 4SW6 -480 -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:-2 3CS3 110 40 1 + K9 Dif: 0 NS:-2 A 00 2
» 93 IMP: 0 EW:2 A 00 2 & KQ953 IMP: 0 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 4150 30 5 ||S ~~1~~ ¢ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HE4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 110 Mean: 3SW-3 300 60 1
v Q874 2HW2 -110 -150  2CN-1 -50 30 1 v 52 2HW-2 200 40 3SW-2 200 4.0 1
¢6 Dif: -60 NS:-1  3CN-2 4100 20 1 ¢ Q87542 Dif: -90 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: -2 EW:-1 2SS-2 4100 20 1 & 984 IMP: -3 EW:-4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 -420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 3HN-2 -200 -300  3HN-1 100 50 1 v AK9632 4HS5450 410  4HN5 450 1.0 15
¢ 92 Dif: -220 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: -6 EW:-3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 3NN6 690 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 3NN5 660 360 3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: 30 NS:8 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 1 EW:-7 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 5CW-1 100 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 -140 Mean: 3SW-3 300 50 5
v J3 4SS-1-50 190 5CXW-2 500 7.0 1 v K6 3SW3 -140 100  2SW-2 200 3.0 2
» KQ7542 Dif: 150 NS:-3 4SS4 420 60 6 o AT932 Dif: 0 NS:-6 3DS5 150 2.0 1
& 74 IMP: 4 EW:6 A 00 2 & A754 IMP: 0 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
1 +
AVA
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
1 3 NS: Z3f8E AR GHO) 16 17 NS: BRE#E EREIB(EAC) 11 VP:| 1218 : 7.82 | Total VP: 94.86 Rank:
EW: BREEE) BiREEIC) -11 EW: 255 BEE(BRO) -1 IMP:| 19 13 3
e I
#1 » KQ872 3NS-3 -150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 3NXE-3 500 -50  3NS3 400 100 1 v KT95 4SE5 -450 -420  2SW5 200 6.0 2
¢ 75 Dif: -650 NS:-3 3CS3 110 40 1 + K9 Dif: 0 NS:-1 A 00 2
%93 IMP: -12 EW:-11 A 00 2 & KQ953 IMP: 0 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2SN-3 -150 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3SW-2 200 Mean: 3SW-3 300 60 1
v Q874 2HW4 -170 -150  2CN-1 -50 30 1 v 52 2SW-1100 40 3SW-2 200 4.0 1
¢6 Dif: 20 NS:0 3CN-2 4100 20 1 ¢ Q87542 Dif: 100 NS:4 2HW-2 200 4.0 1
& KJ74 IMP: 1 EW:1 2SS-2 4100 20 1 & 984 IMP: 3 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 -420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 3NW3 -400 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: -20 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: -1 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 3NN3 600 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 450 Mean: 4SS5 450 1.0 3
v A8 3DS4130 360  3NN6 690 80 3 v A7 4SN5450 410  4SN5 450 1.0 14
+ K963 Dif: 470 NS:6 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 10 EW:6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS4 420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3SW-3 300 Mean: 3SW-3 300 50 5
v J3 4SS4420 190 5CXW-2 500 7.0 1 v K6 3DN4 130 100  2SW-2 200 3.0 2
» KQ7542 Dif: 0 NS:6 4SS4 420 60 6 o AT932 Dif: 170 NS:5 3DS5 150 2.0 1
& 74 IMP: 0 EW:6 A 00 2 & A754 IMP: 5 EW:-1 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -
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#1: 9 BEA(107.06) #2: 19 F2 7 4:473(98.13) #3: 13 B (94.86)
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NS: BRiEE EEFEGIO) 0 1 8 NS: #F 518 BREZZE(BAC) -12 VP:| 12.51 7.49 Total VP: 80.53 Rank:
EW: MR 252=EA0) 12 EW: R 88 (BAO) 0 IMP:| 18 1 14
N I
» KQ872 5HN-3 -150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 -450 Mean: 4DE6 170 6.0 1
v KQJ4 5CS-3-150 -50 3NS3 400 100 1 v KT95 4SW6 -480 -420 2SW5 200 60 2
¢ 75 Dif: 0 NS:-3 3CS3 110 40 1 + K9 Dif: 30 NS:-1 A 00 2
%93 IMP: 0 EW:3 A 00 2 & KQ953 IMP: 1 EW:2 4SW5 450 1.0 7
& AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ QJ43 3NS-2 100 20 2 ||e QJB2 o AT87
» QJ72 3NN-2 4100 20 1 ||a76 » AJ84
a9 5HN-3 4150 3.0 1 * VAN 4, K2
v 973 5CS-3 4150 30 1|IN ~~1~~ » QJ8743
* A6 3NS-3 150 30 5||S ~~1~~ 543
& AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
& Q863 3CN-2 -100 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3SW-3 300 Mean: 3SW-3 300 60 1
v Q874 28S-1-50 -150  2CN-1 50 3.0 1 v 52 3DN3 110 40  3SW-2 200 4.0 1
¢6 Dif: -50 NS:2 3CN-2 4100 20 1 ¢ Q87542 Dif: 190 NS:6 2HW-2 200 4.0 1
& KJ74 IMP: -2 EW:-3 2SS-2 4100 20 1 & 984 IMP: 5 EW:-2 3DN3 110 20 4
a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v KJ652 3DE4 4130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
s JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
v 93 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
* K754 3HE3 140 00 1||S 23~~~ ¢AK
& AQ96 2SN-3 150 00 1 ||E ~~~1~ &KJT2
2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
& K5 3NW5 -460 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 450 Mean: 4HS5 450 10 3
v AJT9863 3NW4 -430 -300  3HN-1 100 50 1 v AK9632 4HN5450 410  4HN5 450 1.0 15
¢ 92 Dif: -30 NS:-4 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
& Q2 IMP: -1 EW:4 2SE4 170 40 1 & Q8 IMP: 0 EW:-1 3HN5 200 -50 1
» T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v K 3HN-2 200 30 1||w4 — v T7
* QJ76 A 00 2 ||e T98765 ¢ Q2
» K84 4SE4 420 -30 9 ||a AK4 » J632
aJ7 3NW3 400 3.0 2 POV ABN 4 A32
w75 3NW5 460 -40 1 |IN ~~5~4 » QJ85
¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
& J9763 E ~~~~~ & T975
» AQ95 5DS-1-100 Mean: 4HNG6 680 80 1 |[|# 8 » K973 4SS5 450 Mean: 4SS5 450 1.0 3
v A8 3DS4130 360  3NN6 690 80 3 v A7 4SN5450 410 4SN5 450 1.0 14
+ K963 Dif: -230 NS:-10 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -6 EW:6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
+ v Q6 3NN3 600 60 2 ||w K9 v QJ632 3SN4 170 6.0 1
+ Q82 A 00 2 [|e 8652 ¢ 943
S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
a3 3DS4 130 6.0 2 d o VAN 4, QJB62
v KJT95 5DS-1 100 -10.0 2 [N ~~~53 & T854
* AJ754 5DN-1 100 100 1 ||S ~~~53 ¢ KJ
&T5 3NN-2 200 110 2||E 1 ~~~~ &83
1 ~ o~~~
4 A86 5CXW-2 500 Mean: 6CXW-3 800 120 1 ||# 10 a T2 3DS4 130 Mean: 3SW-3 300 50 5
v J3 3CW3-110 190 5CXW-2 500 7.0 1 v K6 2SW-2200 100  2SW-2 200 3.0 2
» KQ7542 Dif: 610 NS:7 4SS4 420 60 6 o AT932 Dif: -70 NS:1  3DS5 150 2.0 1
& 74 IMP: 12 EW:7 A 00 2 & A754 IMP: -2 EW:-3 3DN5 150 2.0 1
a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
* AT63 5CW-1 100 30 2 ||e J4 ¢ Q7 A 00 2
a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
& KQT973 48S-1 50 60 3 FOVAN 4, Q6 2sW2 110 5.0 1
v AQ2 3cwW3 410 70 1 |IN 24 ~~1 » A543 3sw3 <140 6.0 1
¢ J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2SW3 140 60 4
& 96 E ~~~~~ » QT2




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
1 +
AVA
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
1 5 NS: SRR FHEEEIC) 1 12 NS: B STRM(BAO) -5 VP:| 1218 : 7.82 | Total VP: 63.81 Rank:
EW: 5 & BRBEIO) 5 EW: #ZF B#&R(BAC) 1 IMP:| 11 5 20
e
#1 » KQ872 3NN-2 100 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 480 Mean: 4DE6 170 6.0 1
v KQJ4 3NS-2100 -50  3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:-2 3CS3 110 40 1 + K9 Dif: 0 NS:-2 A 00 2
» 93 IMP: 0 EW:2 A 00 2 & KQ953 IMP: 0 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HE4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 -110 Mean: 3SW-3 300 60 1
v Q874 2HW2 110 -150 2CN-1 -50 30 1 v 52 2HW-2 -200 40 3SW-2 200 4.0 1
¢6 Dif: 60 NS:1  3CN-2 4100 20 1 ¢ Q87542 Dif: 90 NS:4 2HW-2 200 4.0 1
& KJ74 IMP: 2 EW:1 2SS-2 4100 20 1 & 984 IMP: 3 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 3HN-2200 -300 3HN-1 100 50 1 v AK9632 4HS5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 220 NsS:3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 6 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 3NN6 -690 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3NN5 -660 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: -30 NS:7  3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -1 EW:-8 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 5CW-1-100 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 140 Mean: 3SW-3 300 50 5
v J3 4SS-150 190 5CXW-2 500 7.0 1 v K6 3SW3 140 100 2SW-2 200 3.0 2
» KQ7542 Dif: -150 NS:-6 4SS4 420 60 6 o AT932 Dif: 0 NS:-6 3DS5 150 2.0 1
& 74 IMP: -4 EW:3 A 00 2 & A754 IMP: 0 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 6 NS: G308 MEMEEHC) 1 2 NS: SE1E ZiiZ(F0) 3 VP:| 749 : 12.51| Total VP: 81.25 Rank:
EW: BEEISZ SRBEREI0) -3 EW: EEH JTIEPRAC) 1 IMP:| 19 26 13
e
#1 » KQ872 3NS-2 100 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 480 Mean: 4DE6 170 6.0 1
v KQJ4 3CS-150 -50  3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 6.0 2
¢ 75 Dif: 50 NS:0 3CS3 110 40 1 + K9 Dif: 0 NS:-2 A 00 2
» 93 IMP:2 EW:2 A 00 2 & KQ953 IMP: 0 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW3 140 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN-1 100 Mean: 3SW-3 300 60 1
v Q874 3NW3 600 -150 2CN-1 -50 30 1 v 52 3DN-1 100 40 3SW-2 200 4.0 1
¢6 Dif: -460 NS:-10 3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: -10 EW:0 2SS-2 4100 20 1 & 984 IMP: 0 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 3HN-1 100 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 3NW3 400 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: -300 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: -7 EW:-5 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 5DN-1 100 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3NN5 -660 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: 760 NS:7  3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 13 EW:10 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 6CXW-3 -800 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DS5 -150 Mean: 3SW-3 300 50 5
v J3 4SS4 -420 190 5CXW-2 500 7.0 1 v K6 3SW-3 -300 100  2SW-2 200 3.0 2
» KQ7542 Dif: -380 NS:6 4SS4 420 60 6 o AT932 Dif: 150 NS:5 3DS5 150 2.0 1
& 74 IMP: -9 EW:-12 A 00 2 & A754 IMP: 4 EW:-2 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
1 7 NS: B BVERGERC) 11 13 NS: Rt %K K(BAO) 16| VP:| 7.82 : 12.18| Total VP: 93.86 Rank:
EW: BRiE= SEEEREE0) -16 EW: [RES) $B3REE(BAC) 1 IMP:| 13 19 4
e -
#1 » KQ872 3NS-3150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 450 Mean: 4DE6 170 6.0 1
v KQJ4 3NXE-3-500 -50 3NS3 400 100 1 v KT95 4SE5 450 -420 2SW5 200 6.0 2
¢ 75 Dif: 650 NS:11 3CS3 110 40 1 + K9 Dif: 0 NS:-1 A 00 2
» 93 IMP: 12 EW:3 A 00 2 & KQ953 IMP: 0 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 * VAN 4, K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2SN-3 150 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3SW-2 -200 Mean: 3SW-3 300 60 1
v Q874 2HW4 170 -150  2CN-1 -50 30 1 v 52 2SW-1-100 40 3SW-2 200 4.0 1
¢6 Dif: -20 NS:-1  3CN-2 4100 20 1 ¢ Q87542 Dif: -100 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: -1 EW:0 2SS-2 4100 20 1 & 984 IMP: -3 EW:-4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 3NW3 400 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 20 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 1 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN3 -600 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3DS4 -130 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: -470 NS:-6 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -10 EW:-6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 4SS4 -420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3SW-3 -300 Mean: 3SW-3 300 50 5
v J3 4SS4 -420 190 5CXW-2 500 7.0 1 v K6 3DN4 -130 100  2SW-2 200 3.0 2
» KQ7542 Dif: 0 NS:6 4SS4 420 60 6 o AT932 Dif: -170 Ns:1 3DS5 150 2.0 1
& 74 IMP: 0 EW:6 A 00 2 & A754 IMP: -5 EW:-5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




[MEEF > FFERE R 2 ——> RS

#1: 9 BEA(107.06) #2: 19 F2 7 4:473(98.13) #3: 13 B (94.86)

4 J54
v T8652
+ KT982

[EUEIEEY
1l sz

&
2RIl @
[ERERERER |

SmMnZ %
LI NN

)]
L 4
L |
tr e

wwllZ

X o
39
©
e

11:\)1\709
wwtl{g‘
1l ww D
i1z

SmMnzZ we<cd
Ah l-*;w

NS: #5510 BREZEEAC) -12 1 4 NS: R % E#&1E(FH0) 0 VP:| 7.49 12.51| Total VP: 78.33 Rank:
EW: BRHEE R EBEF0) 0 EW: #tiRiE FE55E(BAC) 12 IMP:| 11 18 15
T ———————— -
» KQ872 5HN-3 150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 450 Mean: 4DE6 170 6.0 1
v KQJ4 5CS-3150 -50 3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 60 2
¢ 75 Dif: 0 NS:-3 3CS3 110 40 1 + K9 Dif: -30 Ns:2 A 00 2
%93 IMP: 0 EW:3 A 00 2 & KQ953 IMP: -1 EW:1 4SW5 450 1.0 7
& AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ QJ43 3NS-2 100 20 2 ||e QJB2 o AT87
» QJ72 3NN-2 4100 20 1 ||a76 » AJ84
a9 5HN-3 4150 3.0 1 * VAN 4, K2
v 973 5CS-3 4150 30 1|IN ~~1~~ » QJ8743
* A6 3NS-3 150 30 5||S ~~1~~ 543
& AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
& Q863 3CN-2 100 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3SW-3 -300 Mean: 3SW-3 300 60 1
v Q874 28S-150 -150 2CN-1 50 3.0 1 v 52 3DN3-110 40  3SW-2 200 4.0 1
¢6 Dif: 50 NS:3 3CN-2 4100 20 1 ¢ Q87542 Dif: -190 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: 2 EW:-2 2SS-2 4100 20 1 & 984 IMP: -5 EW:-6 3DN3 110 20 4
a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
v KJ652 3DE4 4130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
s JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
v 93 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
* K754 3HE3 140 00 1||S 23~~~ ¢AK
& AQ96 2SN-3 150 00 1 ||E ~~~1~ &KJT2
2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
& K5 3NW5 460 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 3NW4 430 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 30 NS:-4 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
& Q2 IMP: 1 EW:4 2SE4 170 40 1 & Q8 IMP: 0 EW:-1 3HN5 200 -50 1
» T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v K 3HN-2 200 30 1||w4 — v T7
* QJ76 A 00 2 ||e T98765 ¢ Q2
» K84 4SE4 420 -30 9 ||a AK4 » J632
aJ7 3NW3 400 3.0 2 POV ABN 4 A32
w75 3NW5 460 -40 1 |IN ~~5~4 » QJ85
¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
& J9763 E ~~~~~ & T975
» AQ95 5DS-1100 Mean: 4HNG6 680 80 1 |[|# 8 » K973 4SS5 -450 Mean: 4SS5 450 1.0 3
v A8 3DS4-130 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: 230 NS:-6 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 6 EW:10 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
+ v Q6 3NN3 600 60 2 ||w K9 v QJ632 3SN4 170 6.0 1
+ Q82 A 00 2 [|e 8652 ¢ 943
S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
a3 3DS4 130 6.0 2 d o VAN 4, QJB62
v KJT95 5DS-1 100 -10.0 2 [N ~~~53 & T854
* AJ754 5DN-1 100 100 1 ||S ~~~53 ¢ KJ
&T5 3NN-2 200 110 2||E 1 ~~~~ &83
1 ~ o~~~
4 A86 5CXW-2 -500 Mean: 6CXW-3 800 12.0 1 |[|# 10 a T2 3DS4 -130 Mean: 3SW-3 300 50 5
v J3 3CW3 110 190 5CXW-2 500 7.0 1 v K6 2SW-2 -200 100  2SW-2 200 3.0 2
» KQ7542 Dif: -610 NS:-7 4SS4 420 60 6 o AT932 Dif: 70 Ns:3  3DS5 150 2.0 1
& 74 IMP: -12 EW:-7 A 00 2 & A754 IMP: 2 EW:-1 3DN5 150 2.0 1
a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
* AT63 5CW-1 100 30 2 ||e J4 ¢ Q7 A 00 2
a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
& KQT973 48S-1 50 60 3 FOVAN 4, Q6 2sW2 110 5.0 1
v AQ2 3cwW3 410 70 1 |IN 24 ~~1 » A543 3sw3 <140 6.0 1
¢ J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2SW3 140 60 4
& 96 E ~~~~~ » QT2




X AN >\ ¢ —_—
8 1NEFF 2ABEEF 2R 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
1 9 NS: BAERE #EREHC) 18 9 NS: $B{E3E #FER(F0) 6 VP:| 14.54 : 5.46 Total VP: 98.13 Rank:
EW: 3842 #E5HEFO) -6 EW: ZZHEB 213 K(BAC) 1 IMP:| 28 14 2
e -
#1 » KQ872 3NS-3150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 2SW5 200 Mean: 4DE6 170 6.0 1
v KQJ4 3CS-150 -50  3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 6.0 2
¢ 75 Dif: 100 NS:0 3CS3 110 40 1 + K9 Dif: -280 NsS:-2 A 00 2
» 93 IMP:3 EW:3 A 00 2 & KQ953 IMP: -7 EW:-6 4SW5 450 1.0 7
s J54 & AT63 3CS-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
L) » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2SS-2 100 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN-1 100 Mean: 3SW-3 300 60 1
v Q874 2CN-150 -150 2CN-1 -50 30 1 v 52 2DN2-90 40 3SW-2 200 4.0 1
¢6 Dif: 50 NS:3 3CN-2 4100 20 1 ¢ Q87542 Dif: 190 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: 2 EW:-2 2SS-2 4100 20 1 & 984 IMP: 5 EW:4 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 2SE3 140 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 280 NS:4 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 7 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~~ & T975
w ~3~41 W~~~ ~~
#7 » AQ95 5DS5 -600 Mean: 4HNG6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3NN6 -690 360  3NN6 690 80 3 v A7 4SS5 -450 410  4SN5 450 1.0 14
+ K963 Dif: 90 NS:8 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 3 EW:-6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W~~~ ~ ~ 1~~~~
#9 4 AB6 4SS4 -420 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 140 Mean: 3SW-3 300 50 5
v J3 3SS3-140 190 5CXW-2 500 7.0 1 v K6 2SW-2 -200 100  2SW-2 200 3.0 2
» KQ7542 Dif: -280 NS:-2 4SS4 420 60 6 o AT932 Dif: 340 NS:3 3DS5 150 2.0 1
& 74 IMP: -7 EW:6 A 00 2 & A754 IMP: 8 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 1NEFF 2ABEEF 2R 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
2 O NS: FENER % E#EAC) 0 1 NS: EXHE REBFHE(FIO) -21 VP:| 16.18 : 3.82 | Total VP: 93.60 Rank:
EW: BESF R BEfREE(BE0) 23 EW: 81815 REME(EAC) 0 IMP:| 29 8 5
e -
#1 » KQ872 3CS-150 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 450 Mean: 4DE6 170 6.0 1
v KQJ4 3NS-3150 -50 3NS3 400 100 1 v KT95 4SW5 450 -420 2SW5 200 60 2
¢ 75 Dif: -100 NS:-3 3CS3 110 40 1 + K9 Dif: 0 NS:-1 A 00 2
» 93 IMP: -3 EW:0 A 00 2 & KQ953 IMP: 0 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 100 -20 2 ||e QJE2 o AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 ¢A6 3NS-3 4150 30 5||S ~~1~~ ¢543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 -110 Mean: 3SW-3 300 60 1
v Q874 3DE4 130 -150  2CN-1 50 3.0 1 v 52 3DN-1100 40  3SW-2 200 4.0 1
¢6 Dif: 40 NS:1  3CN-2 4100 20 1 ¢ Q87542 Dif: -210 NS:-4 2HW-2 200 4.0 1
& KJ74 IMP: 1 EW:1 2SS-2 4100 20 1 & 984 IMP: -5 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9 2SN-3 450 00 1||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 420 -300  3HN-1 100 50 1 v AK9632 4HS5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 0 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
w ~3~41 W~~~ ~~
#7 » AQ95 3NN-2 200 Mean: 4HN6 680 80 1 |[|# 8 a K973 2SN5 -200 Mean: 4SS5 450 1.0 3
v A8 5DN5 -600 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: 800 NS:6 3NN5 660 7.0 2 ¢ AQT7 Dif: 250 NS:1 A 00 2
& Q42 IMP: 13 EW:11 5DS5 600 60 3 & A7 IMP: 6 EW:5 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KIT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W~~~ ~ ~ 1~~~~
#9 4 AB6 58S-1 50 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3DS4 -130 Mean: 3SW-3 300 50 5
v J3 5HE-1-100 190 5CXW-2 500 7.0 1 v K6 3SW-3 -300 100  2SW-2 200 3.0 2
» KQ7542 Dif: 150 NS:-3 4SS4 420 60 6 o AT932 Dif: 170 NS:5 3DS5 150 2.0 1
& 74 IMP: 4 EW:6 A 00 2 & A754 IMP: 5 EW:-1 3DN5 150 2.0 1
45 a J42 3583 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ &9 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_—
8 1NEFF 2ABEEF 2R 2 ==> RS 8
AVA ! -
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
2 1 NS: Pdst S 8EEI0) 7 3 NS: &£F% FBE&((FI0) 5 VP:| 10.39 : 9.61 Total VP: 83.74 Rank:
EW: 52[Et BRI (BEO) -5 EW: Z=§E38 SEmA(BAC) -7 IMP:| 20 19 1
e -
#1 » KQ872 3CS3 -110 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW5 450 Mean: 4DE6 170 6.0 1
v KQJ4 3CN-150 -50 3NS3 400 100 1 v KT95 4DE6 170 -420 2SW5 200 60 2
¢ 75 Dif: -160 NS:0 3CS3 110 40 1 + K9 Dif: 280 NS:6 A 00 2
» 93 IMP: -4 EW:-4 A 00 2 & KQ953 IMP: 7 EW:1 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 100 -20 2 ||e QJE2 o AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 ¢A6 3NS-3 4150 30 5||S ~~1~~ ¢543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HW4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 3DN3 -110 Mean: 3SW-3 300 60 1
v Q874 3HE3 140 -150 2CN-1 50 3.0 1 v 52 3DN3-110 40  3SW-2 200 4.0 1
¢6 Dif: 30 NS:0 3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:2 2HW-2 200 4.0 1
& KJ74 IMP: 1 EW:1 2SS-2 4100 20 1 & 984 IMP: 0 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||a AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE-1 -50 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HS5 -450 Mean: 4HS5 450 10 3
v AJT9863 4SE4 420 -300  3HN-1 100 50 1 v AK9632 4HN5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: -470 NS:-3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: -10 EW:-8 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
w ~3~41 W~~~ ~~
#7 » AQ95 4DS4 -130 Mean: 4HN6 680 80 1 |[|# 8 a K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 5DS5-600 360 3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: 470 NS:6 3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: 10 EW:6 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KIT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W~~~ ~ ~ 1~~~~
#9 4 AB6 4CW4 130 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 3SW-3 -300 Mean: 3SW-3 300 50 5
v J3 5SS-150 190 5CXW-2 500 7.0 1 v K6 3DS3-110 100  2SW-2 200 3.0 2
» KQ7542 Dif: 80 NS:-6 4SS4 420 60 6 o AT932 Dif: -190 NsS:0 3DS5 150 2.0 1
& 74 IMP: 2 EW:8 A 00 2 & A754 IMP: -5 EW:-5 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ &9 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -




X AN >\ ¢ —_— 8
8 [MEEZ2RABERFLB 2 ==> RS
#1: 9 BEAZ(107.06) #2: 19 Z57 4:45(98.13) #3: 13 B (94.86)
22 NS: (BC) 0 4 NS: (F80)0 VP:| 0.00 12.00 | Total VP: 0.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 22
e
# 1 » KQ872 A Mean: 3NXE-3 500 11.0 1 |[# 2 s J5 A Mean: 4DE6 170 6.0 1
v KQJ4 A 50 3NS3 400 100 1 v KT95 A -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:0 3CS3 110 40 1 + K9 Dif: 0 NS:0 A 00 2
» 93 IMP: 0 EW:0 A 00 2 & KQ953 IMP: 0 EW:0 4SW5 450 1.0 7
» J54 » AT63 3Cs-1 50 0.0 3 ||a AQT763 #» 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||w6 I v A2 4SW6 480 2.0 8
+ KT982 ¢ QJ43 3NS-2 4100 20 2 ||e QuB2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 »~ AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 450 30 1 [|N ~~1~~ » QJ8B743
S 2~~~1 ¢A6 3NS-3 4150 30 5||S ~~1~~ ¢543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXs-2  -300 -6.0 1
# 3 » Q863 A Mean: 2SS-1 -50 30 1 (|# 4 a K7 A Mean: 3SW-3 300 60 1
v Q874 A 150 2CN-1 50 3.0 1 v 52 A 40  3SW-2 200 4.0 1
¢6 Dif: 0 NS:0 3CN-2 4100 20 1 ¢ Q87542 Dif: 0 NS:0 2HW-2 200 4.0 1
& KJ74 IMP: 0 EW:0 2SS-2 4100 20 1 & 984 IMP: 0 EW:0 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 + v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 + J63 2DN2 90 20 1
& 852 & T3 2HW2 110 1.0 1 ||a AQ75 & 63 A 00 2
P OVAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 A Mean: 4SE-1 50 80 2||# 6 4 K8 A Mean: 4HS5 450 10 3
v AJT9863 A -300  3HN-1 100 50 1 v AK9632 A 410  4HN5 450 1.0 15
¢ 92 Dif: 0 NS:0 3SE3 140 40 1 + AK4 Dif: 0 NS:0 A 00 2
» Q2 IMP: 0 EW:0 2SE4 170 40 1 » Q8 IMP: 0 EW:0 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v 3HN-2 200 30 1||e4 — v T7
¢ A43 * QJ76 A 0.0 2 ||e T98765 * Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W~~~
#7 » AQ95 A Mean: 4HN6 680 80 1 |[|# 8 a K973 A Mean: 4SS5 450 1.0 3
v A8 A 360 3NN6 690 80 3 v A7 A 410  4SN5 450 1.0 14
+ K963 Dif: 0 NS:0 3NN5 660 7.0 2 ¢ AQT7 Dif:0 NS:0 A 00 2
& Q42 IMP: 0 EW:0 5DS5 600 60 3 & A7 IMP: 0 EW:0 3SN5 200 50 1
a KJ4 ~ T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S & KJ7 4DS4 130 6.0 1 [|& KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KIT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 100 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2 ||E 1~~~ ~ &83
W~~~ ~ ~ 1~~~~
#9 # A86 A Mean: 6CXW-3 800 120 1 ||# 10 aT2 A Mean: 3SW-3 300 50 5
v J3 A 190 5CXW-2 500 7.0 1 v K6 A 100 2SW-2 200 3.0 2
« KQ7542 Dif: 0 NS:0 4SS4 420 60 6 o AT932 Dif: 0 NS:0 3DS5 150 2.0 1
& 74 IMP: 0 EW:0 A 00 2 & A754 IMP: 0 EW:0 3DN5 150 2.0 1
45 a J42 3583 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 » J2 558-1 50 60 2||a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 410 70 1 |[N 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 o K865 2sW3 140 60 4
E 4~3~~ %9 E ~~~~~ & QT2
W 4~3~~ W~~~




